Example 3-10:  Average Power in a Sinusoid. For the case where x(f) = A cos((27/Ty)t + ¢), the

average power integral
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can be evaluated directly. Although it is possible to use a trigonometric identity, we will use Euler’s
formula followed by the complex number identity |z + wi? = |z]* + 2R {zw*} + [w|%.
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Note that the integral of the cosine term is zero, being an integral over two complete periods.

McClellan, Schafer, and Yoder, DSP First, 2e, ISBN 0-13-065562-7. [ N [ HHTr W, ,m' hama
Prentice Hall, Upper Saddle River, NJ 07458. ©2016 Pearson Education, Inc. lle ﬂ g



